Reminders 04-08-10:

-POW 9 Due Tuesday
-Quiz in Recitation next week

Objectives
-Moment of Inertia Examples

-Torque + examples
-More on Rolling Motion
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What is the rotational inertia of a hollow sphere
rotated about an axis that passes through the end
of a diameter?




What is the rotational inertia of a square plate
rotated about an axis that passes through its
corner?




Torque

* The ability of a force to rotate an oh
depends on the distance from the pi
(fulcrum) to force acting on the objg¢
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No rotation possible; L=0




What is the torque on the stick about p for the

situation shown below?
+— 1m ——




A 4 meter stick of mass m is suspended from an end
and released from rest in a horizontal orientation.
What is the angular acceleration of the stick when
at an angle of 0.572 rad to the vertical (see
examples 10.7-10.11)?
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A mass M is hung from a two-step pulley as shown
below. The pulley is composed of two disks of radius
R, and R, and rotational inertia I, and I,,
respectively. The string is wound around the pulley

and the mass is released. Calculate the acceleration
of the falling mass M (see example 10.12).




